Expa/w&nj Dou/y/f /;/,,(clclj 2 i ,Aﬂjweﬂ‘

D (3% +2) (27c+3’-)
G+ 9% + 4x +6
ex“+ B3x +06

5 @x-5) (1x-1)
= lyx*-2Zx - 35x +5
- }qxl—377t ™

5) @-Jr%x)(s +27c)
0 + x4+ 15x+bx "
204 23x + bx "

o2  (x"+23x +30

7) (5-2x) (4 ~5)
= Uys -25x —18x +I0x
= LS =i B IOF"

ok 10X = 43x +4S

a)  (1-43)(29-9)
= Iy -63- 8y +3by
= 50‘:}“63“83

OR “8:)11'503 -63

(5x-7) (45¢+3)

A0xr 4 |Sx -2A8% -2|
A0xE— 132 — 21

(6x +7> (bx -7)
3bxt - 2% 4+ 422 & =49
3bxr” + O — 49

36x* — 49

by

&) (5—3x) (3+‘71)

= 15+4+35x-9% -2Ix*
= IS +26x —2Ix*

ok  —2x 426x +IS

3 (3x+8 (é~~5‘x)
) £ 182— 5%+ 48 - 40x
= -02x -I5%> +43

ok -5 =221 +48

io) (5%-3)"

(5% -3)(51‘ -3)
= aS5x*= j5x-i15x+9
= 35¢*-30x t+9

i



